D1vISION WITH A REMAINDER IT (H - SET 1)

DIVISION WITH 1 TO 10 Name:
Time: Score: y—

21 23189 + 8 = 26) 9846 + 2 =
212) 1973 = 1 = 227) 20483 + 5 =
213) 31212 = 7 = 228) 76246 = 8 =
211 312 = 6 = 22090 81734 = 10 =
215) 26151 + 7 = 20 3418 + 1 =
216) 9216 = 10 = 231) 26223 = 3 =
217 31566 = 4 = 232) 43188 + 5 =
218) 19542 = 6 = 233) 33727 =4 =
219) 8180 =~ 1 = 231) 12425 =+ 6 =
20) 804 = 9 = 235) 220069 + 6 =
21) 923530 =— 8 = 236) 39323 -6 =
222) 2186 = 1 = 237) 4382 + 2 =
23) 3445 = 7 = 238) 20023 +9 =
249 73031 +8 = 239) 9884 + 7 =
225) 82894 + 9 = 2100 3689 + 3 =

Mathematics: Division - Level 8 - Horizontal - Set 1
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